8 7 6 5 4 3 2 1

NOTES CONTINUED: REV. DATE DCN # DRAWING TREE #

(5 SCRIBE, ENGRAVE (A VIBRATORY TOOL MAY BE USED), - - - -
LASER MARK OR MECHANICALLY STAMP (NO INKS OR
DYES) DRAWING PART NUMBER, REVISION (AND - - - -
VARIANT OR "TYPE" IF APPLICABLE) ON NOTED SURFACE

OF PART FOLLOWED ON THE NEXT LINE WITH A THREE — — - - - -
DIGIT SERIAL NUMBER. SERIAL NUMBERS START AT 001
FOR THE FIRST ARTICLE AND PROCEED CONSECUTIVELY.
USE MINIMUM 0.12" HIGH CHARACTERS, UNLESS THE SIZE
OF THE PART DICTATES SMALLER CHARACTERS.
EXAMPLE: DXXXXXXX-VY, TYPE-XX, S/N XXX
D | | | | 5 D

C 13 Socket Set Screw Oval Point #2-56x0.0625 18-8 SSTL | 1 1 C
12 Socket Set Screw Oval Point #4-40x0.25 18-8 SSTL | 1 1
Lé 11 Socket Set Screw Oval Point #8-32x1 18-8 SSTL 1 1
=
[a)
§ 10 Socket Button Head Cap Screw #2-56x0.188 | 18-8 SSTL | 4 4
z
;é 9 Socket Button Head Cap Screw #2-56x0.375 | 18-8SSTL | 8 8
2 8 Optics 2" x 3/8" BK7 GLASS | 1 1
5
- PFA440 HP
g B 7 D1001648 vl Tip-Tilt Mirror - Nudge (PRESHRUN| 1 1 B
!
[e]
g 6 D1002339 vl Tip-Tilt BOSEM Magnet - Dia2x3mm SmCo 2:17| 4 4
%
. 5 D1002338 Vi Tip-Tilt BOSEM Flag - Dia2x3mm Magnet PEEK 4 4
2
£
2 4 D1001493 vl Tip-Tilt Inner Wire Clamp Magnet SmCo 2:17| 4 4
<
|
g 3 D1001483 vl Tip-Tilt Outer Wire Clamp ALU 6061-T6 Al | 2 2
[0
o
(,S,I 2 D1001482 vl Tip-Tilt Inner Wire Clamp ALU - 1.5mm 6061-T6 Al | 2 2
;_% 1 D1001428 v2 Tip-Tilt Mirror Holder 6061-T6 Al | 1 ]
S A A
< ITEM PART - SPAR |TOTA
g' NO.| NUMBER [Revision DESCRIPTION MATERIAL |REQ E |
0 PARTS LIST
5 NOTES AND TOLERANCES: (UNLESS OTHERWISE SPECIFIED] CALFORNIA INSTITUTE OF TECHNOLOGY PART NAME ] ] ] ]
';I DIMENSIONS ARE IN 2 ROV E ALL SHARS EDES, 008015, FOR MACHINED PARTS. ROUND ALL EDGES LIGO wassacrusems instiruTe oF TECHNagG O HAM T|p‘T|lT SUSpenSIOI’\ Assembly - Mirror Holder
BI T&LER?NCES: ?tAﬁPEE?E%%%—%L%%%&E?5%@&%21:?5;?—1Enc, FULLY WATER SOLUBLE AND FREE OF SYST/EAA\AD\/ANCED LlGO SUB_Si(éTE\:A DESIGNER P Sogmolor} 100 2010 | SZE | DWG. NO. e
g R R T [NBTASY ] s D1100907 v
= : N/A N/A pinch HAM ISl APPROVAL SCALE: 1:1 | PROJECTION: SHEET 1 OF |

8 7 6 5 4 3 2 1



	Sheet1
	Drawing View1
	Drawing View3


